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Time : 3 Hours Max. Marks : 60
Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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What is Statistical Unit ? What are its different types ?
Explain the main characteristics of a good statistical
unit.

AREB Thh /IHE AT & ? TS fbed YR Bl
B € 7 U SUgd AiRADN Uhd /3PS bl U
faeToTal @ SARET BT |

Define the coefficient of correlation between two
variable X and Y. State what precautions are necessary
in interpreting it ? Explain the significance of positive,
negative or zero coefficient of correlation.
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The expenditure of 1000 families is given below. If the
median of the distribution of ¥ 87.50, find the number
of missing families :

Expenditures No. of Families
®)
40—59 50
60—79 -
80—99 500
100—119 -
120—139 50
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40—59 50
60—79 _
80—99 500
100—119 —
120—139 50

4. What do you mean by analysis of time series ? Explain
the utility of such analysis in Business. Also describe
the different components of time series.
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Section-B / Yls—g

(Short Answer Type Questions) / (eT9 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer four (04) questions only.
Answers of these questions must be restricted to
two hundred fifty (250) words approximately.
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Briefly discuss any four (04) of the following :
ffoRed # 9 fl IR (04) W Hed # =@t B
1. The major features of Business Research.
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2. Necessity to scrutinize and edit the secondary data
before their use.
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3. Importance of Index numbers in Economic and
Business Studies.
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4. Properties and uses of Normal Distribution.
T 9S4 & e ql AT |

5. Properties of Regression Coefficients.
RHTORTA IO ORI |
6. There are 10 questions in a question paper of which

5 are to be attempted. How many combinations can be
of 5 questions ?



[5] M. Com.-05

Th U U H 10 U & O ¥ 5 8 A 2| U
Ul & s YR b o 8 Ghd § ?

7. Write short notes on the following :
(@) Law of Statistical Regularity
(b) Bibliography and Referencing
ffeiRad uR il fewforT forRey
(&) wiRegar fraffdar a9
(@) w<d g7 g g Fafien
8. Distinguish between skewness and dispersion.
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Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.
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Fill in the blanks with appropriate words or phrases :
S weg 1 IR & Hif Red-i a1 gl by -

1. The objectives and scope of statistical investigation are
decided before the ....................
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Sample method is appropriate for ...
population.
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The difference of the upper and lower limit of each
classis called ....................
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The formula of least square method is .....................
AT a9 A BT g

When regression lines intersect each other as rectangle,
then the correlation between them is ......................
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Choose the correct alternative.
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6.

If S. D. = 15, and Mean = 30, then what will be
coefficient of variation ?

(@) 25%

(b) 50%

(c) 40%

(d) 60%

If¢ . D. =15 @A AA =30 & Al fdeRor orids &
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(31) 25%

) 50%

40%

60%
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7. Which of the following is a suitable diagram to present
the monthly expenditures and savings of two families ?
(@ Simple Bar Diagram
(b) Multiple Bar Diagram
(c) Sub-divided Bar Diagram
(d) Percentage Sub-divided Bar Diagram
ffeiRad % 9 31 URIRI & A% @< U q9d @l
YR & & foly food o &1 Fmior arem Sferd
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8. Which of the following is considered in statistical
investigation ?
(@) Definition of the Problem
(b) Purpose of Investigation
(c) Sources of Information
(d) All of the above
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The other name of Family Budget Method is :
(@) Fisher Method

(b) Laspeyere Method

(c) Weighted Average of Relative method
(d) None of these
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If the mean of normal distribution is 50, then its mode
will be :

@ 25

(b) 50

(c) 100

d) 75
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